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1. Which of the following is not correct about Prithvi-II? 

(a) The missile was successfully testfired from Chandipur. 
(b) It is a surface to air missile. 
(c) It has in internal navigation system on board. 
(d) It was first testfired by DRDO in January 1996. 

 
2. Which of the following is not correctly matched? 

(a) Rajnath Singh – elected as President of BJP 
(b) Laxman Singh Rathore – elected as Vice President of World Meteorological 

Commission 
(c) A A Lakshmanan – elected President of Indian Hockey Federation 
(d) Vandana Gopi Kumar – Stree Shakti Puraskar 

 
3. Which of the following is not correctly matched? 

(a) Preeti Desai – First person of Indian origin to win Miss Great Britain title 
(b) Margaret Chan – Director General, WHO 
(c) Aruta Patki – Miss Earth Air title 
(d) Hamid Karzai – Indira Gandhi Prize for Peace, Disarmament and 

Development - 2006 
 
4. From which of the following ports has Pakistan allowed India to trade with 

Afghanistan? 
(a) Karachi (b) Hyderabad 
(c) Gwador (d) Mirpur Khas 

 
5. Who has been awarded Pakistan’s highest Civilian award ‘Nishan-e-Pakistan’? 

(a) Hamid Karzai (b) Hu Jintao 
(c) Manmohan Singh (d) Mahmoud Abbas 

 
6. Who is the head of the inquiry committee which termed princess Diana’a death as 

an accident? 
(a) John Stevens (b) Richard Becker 
(c) Jonathan Marriot (d) None of these 

 
7. What is the name of the first private gold mine which is to be operational in 2007? 

(a) Gadag Coalmines (b) Kolar 
(c) Hutti (d) Bellary 

 
 
 
 



8. According to the latest WTO report, what is India’s position in the export of 
services? 
(a) 10th (b) 11th 
(c) 12th (d) 13th 

 
9. Who has been awarded the Ford Business Man of the Year? 

(a) Nandan Nilkani (b) Indira Nooyi 
(c) Vidya Chhabaria (d) Ratan Tata 

 
10. Which of the following is not correctly matched? 

(a) Jeev Milkha Singh – Volvi Masters 2006 
(b) Roger Federer – Masters Cup 
(c) Justin Henin Hardenne – WTA Championship 
(d) Brazil – Women’s Volleyball World Cup 

 
11. Which of the following is not correctly matched? 

(a) Charanjit Sigh Atwal – attended parliamentary forum in Doha 
(b) Amitabh Bachehan – honorary doctorate by Delhi University 
(c) Laxman Singh Rathore – elected vice president WMO 
(d) Tyler Williams – elected president of JNU students’ union 

 
12. Which of the following is not true about Corruption Perception Index (CPI) 2006? 

(a) India is ranked at 70th position 
(b) CPI is a composite index that measures corruption in 163 countries 
(c) Finland, Iceland and New Zealand share the top position 
(d) Switzerland is at the 4th position 

 
13. What is ‘Sakshat”? 

(a) A portal which will provide one stop solution for educational requirements 
(b) A portal for health services 
(c) Government’s programme to fight AIDS 
(d) None of these 

 
14. What is India’s rank in press freedom index? 

(a) 105 (b) 106 
(c) 107 (d) 108 

 
15. Which of the two Indian films have won green Oscar award? 

(a) ‘Cherub of forest’ and ‘Last dance of the Sarus’ 
(b) ‘Cherub of forest’ and ‘Meet the tortoise’ 
(c) ‘Siberian crame in danger’ and ‘Meet the tortoise’ 
(d) None of these 

 
16. India and China have designated 2006 as the year of ……… 

(a) Indo-China Cooperation  (b) Indo-China Friendship 
(c) Indo-China strategic relationship (d) None of these 



 
17. Which of the following does not form a part of the agreement between Nepali 

Congress and Maoists? 
(a) The Maoists will surrender their arms 
(b) King’s properties shall be brought into trust 
(c) UN will monitor weapons in the lockers 
(d) Maoists will keep certain contingents with them 

 
18. Why was Trans-Asian railway in news recently? 

(a) It is to be further developed by 81000 km 
(b) It was blocked due to snowfall 
(c) Russia and China were in confrontation for the passage of goods through it 
(d) None of these 

 
19. Which country’s king has recently passed a new succession law? 

(a) Kuwait (b) Saudi Arabia 
(c) Oman (d) Qatar 

 
20. With which country has India signed its first even social security pact? 

(a) Germany (b) Norway 
(c) Britain (d) Belgium 

 
 
 
 

ANSWERS 
 
1. (b) 
2. (c) 
3. (d) 
4. (a) 
5. (b) 
6. (a) 

7. (a) 
8. (b) 
9. (a) 
10. (d) 
11. (d) 
12. (d) 

13. (a) 
14. (a) 
15. (a) 
16. (b) 
17. (d) 
18. (a) 

19. (b) 
20. (d) 
 

 



 


